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D–3003 

B. Com. (Part I)  

EXAMINATION, 2020 

(New Course) 

(Group-I) 

Paper First 

FINANCIAL ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- ys[kkadu ds eq[; mís’; D;k gSa \ D;k ys[kkadu dh ‘kk[kk,¡ Fkha \ 
What are the main objectives of Accounting ? Are there any 

branches of accounting ? 

vFkok 

(Or) 

crkb;s fd fuEufyf[kr O;; iw¡thxr gS vFkok vk;xr \ 

(i) Hkwfe Ø; ij gksus okyk dkuwuh O;;A 
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(ii) _.ki=ksa ds fuxZeu ij gksus okyk oS/kkfud O;;A 
(iii) cSad dks Hksts x;s #i;ksa dh jkLrs eas pksjhA 

(iv) u;h e’khu yxkus ds fy, fn;k x;k etnwjh O;;A 

(v) [;kfr dh fcØh ls izkIr jkf’kA 

(vi) eky ds Ø; ij xkM+h HkkM+kA 

(vii) jíh isij ds foØ; ls izkIr jkf’kA  

(viii) ,d deZpkjh dks pksV yxus ij nh x;h {kfriwfrZ dh jkf’kA 

(ix) va’kksa ds gj.k ij izkIr jkf’kA 

(x) u;s mRikn ij fd;k x;k foKkiu O;;A 

Explain whether the following items are capital or revenue ? 

(i) Legal expenses for the purchase of land.  

(ii) Legal expenses for the issue of debentures. 

(iii) Cash sent to bank stolen on the way.  

(iv) Wages paid in the erection of a new machine.   

(v) Amount received on sale of goodwill.  

(vi) Carriage paid on goods purchased.  

(vii) Money received on sale of waste paper.  

(viii) Compensation paid to an employee for injury caused.  

(ix) Amount received on forfeiture of shares.  

(x) Advertisement expenses to launch a new product.  
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bdkbZ&2 

(UNIT—2) 

2- 31 ekpZ] 2019 dks Jh ‘;ke dqekj dh ijh{kk&lwph fuEukuqlkj gS % 

[kkrksa ds uke 
fod- ‘ks”k 

¼`½ 
lek- ‘ks”k 

¼`½ 

izkjfEHkd LdU/k 40,000 — 

Ø; ,oa foØ; 1,20,000 1,70,000 

miLdj  30,000 — 

chek O;; 13,000 — 

gkFk esa jksdM+ 40,000 — 

etnwjh 30,000 — 

osru 20,000 — 

foKkiu 8,000 — 

deh’ku — 4,000 

v’kks/; _.k 2,000 — 

e’khujh 80,000 — 

nsunkj ,oa ysunkj 1,02,000 80,000 

vkgj.k ,oa iw¡th 10,000 3,00,000 

Hkou 1,25,000 — 

ns; foi= — 10,000 

_.k — 30,000 

cSad vf/kfod”kZ — 26,000 

;ksx 6,20,000 6,20,000 
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lek;kstu % 

(i) 31 ekpZ] 2019 dks vfUre LdU/k dk ewY; ` 80,000 gSA  

(ii) chek O;; esa ` 3,000 O;kikjh ds thou chek ikWfylh dh fdLr 

ds lfEefyr gSaA 

(iii) 1 vDVwcj] 2018 dks ,d e’khujh ` 20,000 esa m/kkj [kjhnh 

x;h ftudk mYys[k ys[kk iqLrdksa esa ugha fd;k x;k gSA  

(iv) e’khujh ij 10% izfr o”kZ vo{k;.k dk vk;kstu djuk gSA  

(v) ,d xzkgd tks ` 4,000 dk _.kh Fkk] ls vfUre Hkqxrku esa 

dsoy ` 2,000 gh izkIr gq, FksA  

(vi) nsunkjksa ij v’kks/; _.kkFkZ vk;kstu 5% djuk gSA  

31 ekpZ] 2019 dks mi;qZDr lek;kstu dks /;ku esa j[krs gq, (i) O;kikj 

[kkrk ,oa ykHk&gkfu [kkrk ,oa (ii) fpëk rS;kj dhft,A  

The following is the Trial Balance of Shri Shyam Kumar as 

on 31st March, 2019 : 

Name of Accounts 
Dr. Balance 

(`) 
Cr. Balance 

(`) 

Opening Stock  40,000 — 

Purchase and Sales 1,20,000 1,70,000 

Furniture  30,000 — 

Insurance Expenses  13,000 — 

Cash in Hand 40,000 — 

Wages 30,000 — 

Salary  20,000 — 

Advertisement 8,000 — 
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Commission  — 4,000 

Bad Debts  2,000 — 

Machinery  80,000 — 

Debtors and Creditors  1,02,000 80,000 

Drawing and Capital  10,000 3,00,000 

Building  1,25,000 — 

Bills Payable  — 10,000 

Loan — 30,000 

Bank Overdraft — 26,000 

Total 6,20,000 6,20,000 

Adjustment : 

(i) Stock on 31st March, 2019 was valued at ` 80,000. 

(ii) Insurance expenses includes ` 3,000 as a premium of 

Life Insurance Policy of proprietor.  

(iii) On 1st October, 2018 a machine was purchased on 

credit for ` 20,000 but not recorded in the books of 

accounts.  

(iv) Depreciation on machinery is to be charged at 10% per 

annum.  

(v) Received ` 2,000 as final payment from a debtor who 

is owed for ` 4,000. 

(vi) Make a provision for bad and doubtful debts on debtors 

at 5%.  

Prepare (i) Trading Account and Profit & Loss Account and 
(ii) Balance Sheet, keeping in view the above adjustment on 
31st March, 2019. 
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vFkok 
(Or) 

v’kqf);ksa ds la’kks/ku dk vk’k; fyf[k,A v’kqf);ksa ds lq/kkj dh 
fofHkUu fof/k;ksa dk o.kZu dhft,A  
Write the meaning of rectification of errors. Describe various 
methods of rectification of errors.  

bdkbZ&3 
(UNIT—3) 

3- 1 vizSy] 2016 dks egs’k us ` 20,000 esa 3 o”kZ dh vof/k ds fy, ,d 

iêk fy;k vkSj ;g r; fd;k fd 5% dh nj ls C;kt yxkrs gq, 

okf”kZd of̀Ÿk i)fr ls vo{k;.k vifyf[kr fd;k tk;sA ` 1 dh okf”kZd 

of̀Ÿk rhu o”kZ ds fy, 5% C;kt ij ` 0.367208 gSA  

iêk [kkrk 3 o”kks± ds fy, cukb, vkSj izfr o”kZ ykHk&gkfu [kkrs ij 

‘kq) ekj fn[kkb,A  

On 1st April, 2016 Mahesh acquired a lease for a period of 

three years for ` 20,000 and decided to write off depreciation 

by annuity method charging interest at 5%. The annuity to 

provide for ` 1 for three year at 5% interest ` 0.367208. 

Prepare the leasehold account for three years and show the 
annual net charges to Profit & Loss Account for each year.  

vFkok 
(Or) 

vk;&O;; [kkrk D;k gS \ vk;&O;; [kkrk vkSj izkfIr&Hkqxrku [kkrk dh 
eq[; fo’ks”krkvksa dk o.kZu dhft,A  
What is Income and Expenditure Account ? Explain the 

basic features of Income and Expenditure Account and 

Receipts and Payments Account.  
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bdkbZ&4 

(UNIT—4) 

4- 1 vizSy] 2014 dks ckWEcs eksVj da- fdjk;k Ø; i)fr ij eksVj ykWjh 

dks izkIr djrh gSA eksVj ykWjh dh jksdM+ dher ` 1,150 gSA ` 150 

rqjUr Hkqxrku dj fn;k x;k vkSj ‘ks”k ` 200 izfr o”kZ + 5% okf”kZd 

C;kt nj ds lkFk fn;k tkrk gSA ckWEcs eksVj da- 10% kl izfro”kZ 

Øekxr kl i)fr ls yxkrh gSA ckWEcs eksVj da- dh iqLrdksa esa 

vko’;d [kkrs cukb,A  

On 1st April, 2014 the Bombay Motor Co. obtained motor 
lorry on hire-purchase system. The cost price of the motor 
lorry was ` 1,150. Payment was to be made as ` 150 down, 

and as to balance at ` 200 per year with 5 percent per annum 
interest. The Bombay Motor Co. write off 10% p.a. 
depreciation on diminishing balance system each year. 
Prepare necessary Ledger Accounts in the books of Bombay 
Motor Co. 

vFkok 
(Or) 

fdLr Hkqxrku i)fr dk D;k vk’k; gS \ fdjk;k Ø;&i)fr vkSj 
fdLr Hkqxrku i)fr eas D;k vUrj gS \ 
What is meaning of Instalment Payment System ? What is 
the difference between Hire-Purchase System and Instalment 
Payment System ? 

bdkbZ&5 
(UNIT—5) 

5- A, B vkSj C lk>snkjh esa ykHk&gkfu cjkcj vuqikr esa ck¡Vrs gSaA  
31 ekpZ] 2018 dks mudk vxzkafdr fpëk Fkk % 
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nkf;Ro 
jkf’k  
¼`½ 

ysunkj 13,000 

B dk _.k 2,500 

ns; foi= 500 

lap; dks”k 3,000 

A dk pkyw [kkrk  1,500 

B dk pkyw [kkrk 1,500 

iw¡th [kkrs %  

 A : ` 20,000  

 B : ` 10,000  

 C : ` 10,000 40,000 

;ksx 62,000 

 

lEifŸk;k¡ 
jkf’k  
¼`½ 

jksdM+ 1,500 

nsunkj 12,500 

LdU/k 29,000 

QuhZpj 1,000 

e’khujh 5,000 

C dk pkyw [kkrk 3,000 

[;kfr 10,000 

;ksx 62,000 
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lekiu dh frfFk ij lk>snkjh ds e/; fuEufyf[kr izcU/k fd;k x;k % 

(i) A ysunkjksa dks Hkqxrku djus ds fy, lger gks x;kA  

(ii) B us LdU/k dks ` 25,000 eas ys fy;kA 

(iii) C us [;kfr dks ` 15,000 eas ys fy;kA 

(iv) ns; foi=ksa dk Hkqxrku `10 dVkSrh ij dj fn;k x;kA  

(v) ‘ks”k lEifŸk;ksa ls ` 15,000 olwy gq,A leku O;; ` 120 gq,A  

(vi) B ds _.k dk Hkqxrku dj fn;k x;kA  

olwyh [kkrk] B dk _.k [kkrk] cSad [kkrk] lk>snkjh ds pkyw [kkrs 
rFkk lk>snkjh ds iw¡th [kkrs cukb,A  
A, B and C are partners sharing profits and losses equally. 

On 31st March, 2018 their Balance Sheet was as follows : 

Liabilities 
Amount 

(`) 

Creditors  13,000 

B’s Loan 2,500 

Bills Payable  500 

Reserve Fund 3,000 

A’s Current A/c 1,500 

B’s Current A/c 1,500 

Capital A/c :  

 A : ` 20,000  

 B : ` 10,000  

 C : ` 10,000 40,000 

Total 62,000 
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Assets 
Amount 

(`) 

Cash 1,500 

Debtors  12,500 

Stock  29,000 

Furniture  1,000 

Machinery  5,000 

C’s Current A/c 3,000 

Goodwill  10,000 

Total 62,000 

On the date of dissolution the following arrangements were 

made among the partners : 

(i) A agreed to pay creditors.  

(ii) B take over the stock at valuation of ` 25,000. 

(iii) C take over goodwill at ` 15,000. 

(iv) Bills payable were paid off ` 10 less being allowed for 

discounts.  

(v) The remaining assets were realised ` 15,000. Expenses 

of realisation amounted to ` 120. 

(vi) B’s loan was also paid off.  

Show the Realisation Account, B’s Loan Account, Bank 

Account, Partners’ Current Accounts and Partners’ Capital 

Accounts.  
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vFkok 

(Or) 

lk>snkjh QeZ ds ,dhdj.k dk D;k vk’k; gS \ QeZ ds ,dhdj.k ds 

mís’;ksa dks Li”V dhft,A  

What is the meaning of amalgamation of a partnership firm ? 

Explain the objects of amalgamation of the firm.  
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